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PREFACE

'the exercises Included in this book were prepared lo make mathematics

both interesting and easy to understand.

Teachers and mathematicians with the Southwest Lducational Dev'elopment

tLaboratory adapted these materials. They were ,guided by the following
......--

b!),Wrs::
.

.

.
N

. ChLldren are interested in mathematics. .

4

Learning is enhanced by.,emphasis on understanding of.concepts

rather than on memoriza-Oon of rules, and pnderstanding

results from being actively involved in experiences from

.)

v*.which concepts are to be abstracted.

L

Alternative sequences of mathematical conceRts can be

fiqlowed, and yet the structtle of mathematics can be

preserved.

Children can learn more mathemat4c than,th'y are now

l earning.

Edwin d'indsman

Executive Director.
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Properties
Complete.

ft ,UNIT 4

= 14
sgui+01.

di

I.
.

. -

(3 x 2). + a = 8'

, a is

5.

,

.

21. = (r x r) + 5.

r is
.

1

.,

,11

- . ,

,

,
2.

,

5 + (e x 5') = lb

e is

.

'..

6. (d x 4)__ + 5

d is ,
.,

. .

_

.

.
,

.

.

3.

.

) = (8 $ 4) 13
.

i sj -4
.

7. 21. = (6 x h ) + 3
.

h i s

.

.

,

.

..

.

. ,
. , .

.

,

,

4.

.

56 r: (2 x 8) + p

p i.s

;\
,

8. 18 = (a. x" ) + 2
,
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1111911
/1.1n

2.

the blanks

(4 2

A- 2) A- 2

(4 - 2) -

(4 2.21,1 2

5, (3 1. i
(8 4) 2

Z. (46

k 3

4

2

.

N.

4

or- or

3

0

3

(4

c.

,20

4

4 (2

4 (2 zt 2)

(2

3 (2 /1

8 (4

4. 3)

-; 2)

2)

Ar.

fir



'Write the simplest numeral for each.

x 2) a 7. , (7 x 2) .x
ts._

2. (3 + 5).1i 2 *. N. 7 x (2 +.2)

3. C100 7 10 ) X (50 5) 9. 2 ,x (4 + 3) x.3

UNIT 4

4. (80 20) x (25 5) 10. (2 x 4) + (3 x 3)

5. (4 6) x 7'

6. (4 x 7) + (6 x 7)

at

, II. (5 + 4) x 3

13. 3 +4:(5 x 2) + 4

12. (5 x. 3) + (4 x-3)

14. (3 -r 5) x (2 -F'4)

15. (3 x 2) + (5 x 2),+ (3 x .4) + (5 x 4) -.

16. (6 x 2) + (3 x 4) + -(12 x 1) + (24 2)

17. (8 x x (10) x 3
.5

4

8 + (54x 10) + 3
-

4-1t:
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UNIT V

Supp lementary Page

Write the simplest numeral for each.-

I. 42 x 3) + 3 6. (6 : 3) + (3 3)

I.
almore

2. (2 + 3) x (4 +.3)

3. (8 + 4) (3 + 4)
1

4. 8 + (4 2.3) + 4

7: (8 x 4) (2 x 2 )

8. 8 x (4 2) x 2

4

9. .(20 10) - (.8 - 2) ,

5. , (6 + 3) 3 10. 20% - (10 - 8.) 2

II. (2 3),.(+ (2 + 3) + (2 + 3)

.

12. (2 s 3) + (2 x 3) + (2 x 3)
4.

4.

13. (2 x 3) + (2 x 3) + (1 + 0)

14. (5 x 0) + (6 x 0) + (7 i 1)

12
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UNIT 4
7

What symbol (>. or < or makes thc, senterwe true?

I.

2.

3.

6(7 + 4 ) 3

(15 10) x 2

14 +1.(12 3)

4. -rt .5) + 3

5. 23

6..

7.

. 8.

9.

(19

-15

(27

(24- 3) "x

(7 + -s

(24 + 12) -: 2

(18 + 1.0) +,6

.(8 + . (40 + 2) '2

+.7) 4 (32 8) + 21

+ 16 8 + (6 + 2)

9) + 9 27 (3 6)"

4 ).< (20 - 10) (7 x 5) + 5

.10/*\ (25 + x (5

7.x (12 2), (12
(4'

: 12: 14 - (8 + 6) . (8 + 6 14' v44,-

i . .
.,'.'"N,4.

13. (14 - 8) + 6 8 + (14 5)
No.-1.) .

114. (20 -: 2) + 2 20 (18 -:-. 3)
.

15. .12 'L (14 + 2) . (14 2)

16.. (3 x 4) +N(3 x '5)

7. ( 24 - - 8)

(4 x 3) +(5 sx 3)

24 x 0)

24 (8 -

vim

d

:J.



UNIT 4
Make the sentences rrue.

.1.
,

Mary has 3 baskets. There are 6 eags in
Here is 0 sentence abbut Mary's eggs,

3 x 6 =e

-4

What number does (1) stand for to,zake the sentence
true?.

e 5

Ma ry kas eggs.

-

ts.

Grace gives 7 more eggs to Mary. Here is a sentence
aCut the number of eggs Mary has now.

AO.

(3 x 6) + 7 --r.a

What number does a sfand-for
to make the sentence trqe?

.Now Mary has e gs.

-44,

14 ,

I
4/.
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UNIT 4
3. John has 5 bags of oranges. TheTe are 10 oranges in'

each g. Write a sentenge about John's oranges.

John eai 8 of his oranges. Writp a sentence about the
nlimber of oranges John has Wt.

Ills

John has oranges left.

.

4. aThere ard 7 branches on a tree. Five birds are
sitting on each branch. Eight birds fly away.
Write a sentence about the number of birds left;

,O1

What number does U stand for to make the sentence
true?

416

bs
There are bIrds-left.

:
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,UNIT . 4/ 5.

t\

6

S.

)
ch of these triangles has 3 side's,

Each àf these squares\has 4 sides.
WriteNa sentesice about the nwriber'of\sides.

AU.1

What numbeipmakes.the sentence trup?
.,

- II i s ,--- .

N.

. 1,.4,

There4 are s i des .

. , ,

4

.2)

4

'Ben goes fishiqg on 4 aN/s. ,He catches 8 fish each
day.' James .gces-fishi n 2 dayss.' .He catches 5_tish
-each day.' How,many fish re caught?
Write a sentence about the number of fish caught..

.

A 1

.

What number makes the sentence
true?

fl ) .

They *cu'ght fish.

=
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UNIT 4
Write a sentence.about the number of small squares
you see.
%

eis
There are -small squares.

04.

How many legs have 7 cows and'4 hens?
Write'a sentence about the number of legs.

a_

A

What number does U stand-for to make,the sentencei
6true?

111 s

e animals have lejts.

e.

".1

1,5
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UNIT. 4 Co

4

I.

9. Four boys shared 24 -marb les equal I y. John lost 2 of
his marbles. Write a sentence about the 'number of
m\bles thjat John has. left.

0'4
What number does
trim?

-. Us\
J hn has' marb les left.

= t

stand for to make -the, sentence

('

*Y.

10. Töboys catO 24) f sh. They gi ve 6 fi sh td a friend.
They share the fest of the 'fish equal iy..
Write-a sentence .aboUt the number'of fish each boy 'has.-

_

g=

44.

y

What number doe 1/ t,taad for to make the sentence
frue?"

g

Each boTha*, fl;h.

N



Make each sentence +rue.
r,

1. Seven children each made
4 antinals from clay. The
teacher saved six of them

4for a science exhibit. She4

put the others on display.
How Nany apimals were put-
on display?

is

animal's "were put on

display.

UNI1Y1 4.

4.

.01

3.12.

. V

There were II peachès on the
ground. A group Of thirteen
,boys picked 'them up. Then 7 ,

more peaches,fell. These were
also picked up. All -Hie peaches.
were divided equally ampng the
boys. Each received 2 peaches.
How many peaches were on the
ground at first?

4

n s
4VO e 410

o
. ,

, There were peaches oh the

ground at 'first.

411,



UNIT 4'
. 3. koher.t had V rart2le., to give away., he divided them

equally amono 4 friends. Each friend already had V

11/
lriarbleo of his.own. Now each had 15 marbles. What
number V of mar-Lles did each have at firsi?
.

.

V.is

Each- fr 'rend tlad marb les
at first.

4

Olt

4: A group pf 11 boys eacb,brought 18 bottle. tops o
school. They gave tops to other children:who needed
them. They gave a total of 14 tops awaye They had
42 left. How many boys.$.1ere there?

fr

11 is

There werd
6

boys.

'11

a.

/
5. Two'boys had r beans together., .They sh.arerd the r

beans equarly betweer them. Each boy lost two of his
beans; each had 8 bdans left. How many beats dict they
have together?.

beans.

2_

1
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0

UNfT.
\.

*6. The teacher drew n squares an'd Irtriangles an the
chalkboard. He drew a total of 56 line segments ta

J make the sides of the figures. How r]any squares and

. triangles aid he dri6w?

nis

The teacher drew
0

squares Siid triangles. -

11.

sOr

et
,

We,

4

a.
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UNIT 4
9 Com lete each 0 eration Machine.

[Fill' in missing numerals or signs.

1. , 18k 1,..8, 62 11, ,5)z \(4, (2

.

X

---i S--- 47-1 If 1. . I 6.

t

1---.'
9

, .

?

----i ----1 1"-'
0

----1 4771 1:---
/2 4,

,- 14
7

12

E.;
.

r--
2

A

---1 ---14----i r- ----i r--5 7. ,

1.

0 1

4

+ L

.,

1, v
) .,
LEM,

÷ 4.

1

41...11110=11MIMPON111.0OPEOMMPIIIMMak
t

4
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UNIT 4
Complete tach Operation Machine.

Fill in missing numerals or signs.
=10

52 92
1. ,(13, 27)

X

.4%

"---1

2. ( ) ( . ) ( . ) ( . )Z Z
9

17
. 2

1 r-
3 7

3. 02 4,-.42 9)

r-i

4. 4; 22 (14. 2. 22

---1 1"--- -1 1-
-7 12 p.16 28

02

0

?

1 F-- ---1 I 1"--1
,413 20 0
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ITIVIT 41

Complete each9peration MaOlne

Fill in missing numerals or signs.

1.

-)z -2
x

n 1 r----
36 3

1 ni
24 8

3: 431, 19)/ 12,

4 X

4-1 1--"' `-`1

4

4 -2
X kfr

r- r- r--
4 19 18 5

117, 3 17, 22

1"-' I 1-"' r"

24
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UNIT 41
1

Complete each Operation Machine.
4

Fill in missing numerals) or signs.

±-1-2

3 30 32

2. 8, 32 18)

4-1 I---'

3. (4, 4)z 42 42 4t,

r?

r-
1 0 8 16

4 _7 9r_2

10 10 10

5. 9, 1)z (29, ,12

171--

Li



UNIT 4
Find what numbertmakes the sentence true.

1. 9 + 7-= 7 + b

2. 196 + 39 ='c + 196
ogo

b is

c is

3. II x b = 83 x 11 .1) As
4

4.) 298 x 7= 7 xp

5. 10 + 184 = 184 +..w

'True or, false?

34,
78

A

>

p is

wc
is

. 3 + > 5 + 2

7. 17 x 16 = 16 x 18

1946 + 1310 =. 1310 + 1946

9. 1324 x 12 < 112 k 1324

10. ,1000 + 3000 = 3000 + 100

-r

0.11

r

41,

t..
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4

A

What number makas the sentence true?

I. 3 x 4 4 x n,

2. 5 + s = 7 5,

3. 3 + 9 = 3 +

lx 8 =yxl,

5. 5 x 6 = .16 + c,

4,6. d x 9 = 9 x Qat,

7. (4 + 6)4F 8 = 3 x b,

(? + s) + 0 = (3 + 2) + 0,

9. w x 18 = 18 x 2,

10. 5 + g =

II. 31 + 8s= 8 + m,
.01

umpt

a is

c is

d is

b is

s is

w is

4

g is

m is

12. (3 + 6) + 2 = n + (3 + 6), n is, ,

+ 5) + 4 = 12 + h, h is



UNIT 4
What number makes the sordence -true? .

I. + 10), + 4 = 2 4 ( 0 -f\ a)

L. (18 + + H = 18 + (13 + I I )

fr

3. d + (315 + 196) ; (234 + 315) + 196

4. (3 x 5) x 4 = b x (5 x 4)

5. (8 x c) x = 8 x (12 x 15)

6. (k x 20) x 5 = 11 x (20 x 5)

7. (462 ± 11.) + 8 = b + (1 I + 8)

8. 25 x '(19 x 4) = (w x 19) x 4

True or false?

9. (4 + 5) + 6
.. a

> 4 + (5 + 7)

,10. (3 x 2) x 5 = 3 x (2 x 5)

I I . (4 x 7) x 3 = 4 x (6 x 3)

12. (15 + 17) + 25 > 15 + (16 + 25)

13. (8 x 19) x 10 = 8 x (19 x 10)

14. (40 x 8) x -30 < 30 x (8 x 30)

28



Write sentences for the arraysof dots.

2.

3.

4.

A

Ilk

UNIT 4

gip

4



UNIT 4
it*

I. There are two boxes on a table. In one box are three
rows of 6 nuts each. In the other box are three rows
of 4 nuts-each. HOw many nuts are in the two boxes?

2. Maria put rings on each finger of her left hand. -She
put 2 rings on each finger of her right hand. How many
rings did stie put on her fingers?

/1

3 In my garden thereare, five rows of trees with three %

trees in each row. fe are 5 more rows of trees
with 4 trees in eadh row. How many trees are in my
garden?

4. . There are 4 bicycles In one house1and 5 bicycles-in
another house. How many wheels are on all of these
bicycles?



UNIT 4
What number makes the sentence true?

I. 8 x (10 + 6) = (8 x 10) 4- (a x 6)

#
2. (b x 5) + (b x 7) = 9 x (5 + 7)

w,

3. 9 x (8 + 7) (c x + (c x 7)

4. (11 x b) + (II x 6) = 11 x (9 +.6)

5. d '03 + 4) = (8 x 13) +,8 x 4)

41, 7 x (b + 15) = (Tx, 6) + (7-x 15)
'A

7. 45 x (3 + k) = (45 x 3) + (45 x I)

A. 25 x (3 + 7), = (25 x 3) + (q x 7)

9. 56 x + 6) = (56 x 4) + (56 x p)

,(q x 5) + (q x 13). .= 10 x (5 + 13)

, True or false?

11. 2 + (3 x 5) = (2 + 3) x (2 + 5)

12. 4 x (8 + 6) = (4 x 8) +,(4-x 7)

13. (20 + 13) x 7 1 = (20 x 7) + (13.x 7)

14. 1/5 x (4 + 3) = (16 x-4) + (16 X 3)

15. 13 x (17'+ 10) = (13. x 7) + (13 x 10)

41.



UNIT 4
Operations

1. Riddle: I am a number. If I am added to a number,
the sum is always that same numberl. What number
am 1?

2. If a + b = a, what is b?

3. What property do exercises I and 2 how?

4 4 Riddle: I am a number. Lf a number and I are
l multiplied, 'the product is always that number.

What nprvber am I? v

5. lf,a x b'= a, what is b?

6. What property do exerOslas:IF and 5 show?,
;

What number makes the sentence true?

7. 193 x n = 193, n is

8. 45 = 45 + m, m is

9. s =,4I5 x
- ,

10. (5 + h) + 0 =, 5 +

II. + 25 = 25, z is

39, a is

s is

h

e,4, >t'4.

4
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True or false?

I. + 0 =

2. 4 + 7 =

3.- I x 73 =

4.* 0 x 20 =

5. 5 x 8 =

UNIT 4

3 U. 1 X 12 12_

7 .+ 5 ' 7. + 0 = 43

8. 685 = 685 x I73

.1.1M111Mr1==.

30 9. 0 x 5 = 5 x I

8 x 5. 10. 35 + 62 = 62 + 35

vtv

H. 5 x (4 + 3).= (5 x 4) +.'(5 x 3)

12. 5 x'(4 + = (5 + 4) x 3

13. (4 x 3) x 3 = 4 x (3 x

14. 3 + (2 + 12) = (3 + 2) + 12

15. 2 x (3 x 4) x 5 = 2 x 7x 5

I6.: (3 + 6) x 7 = 3 x (6 + 7) .;



UNIT 4
What number rid ko':, t

I. 3 + 17 = n + 3,

2. + 82 = 82,

n s

a is

A

0 3 2 + (8 + s') = (2 + 8) + 12, s is

14 x b 'E.- 14, b is)4.-
1- i

5. 24 x v = 2 x 24-,.

e% (14 + 2) x 2 = w + (2 x 2), w is

n' x_8 .= 8,

41.

8. '9' x a = 0,

n is

a is

9. (4 + 2) x 3 = (4 + 2) x c, c is
4*

10. (5 x 2) x 3 = s x (2 x 3), S. is
'1

1

IL,. a + (3 x 2) = (100 x 3) x 2, a is

-44

"N., n is



Geometry

.,.
Rectangle/

Telie.or false?

UNIT 5

Circle M is beside,the rectangle PQRS.
Circle M is between the rectangle PQRS and

triangle T.'
400kTriangle T,Is to the left of circle 18/14.

TIY-iangIR 1;ris to the right of rectangle PQRS.
Rectangle' PQRS is .between circle M and triangle T.

Chair
t.

Table Ba

IV

The table is the chair and the ball.
.The chair is to the of the box.
The box is - the bail:
The table.is to the of the chair.

4k
0 1 2 3 4 , 5

: .

Number. Li ne

Box



,44

UNIT 5 C.

ABOVE, BELOW

0=00*

0E000

.001000

0000.0.

5

4

3

2

0

*s

r

0

s.,



op,

I.

I. True or fals

INSIDE, OUTSIDE

I.

UNIT 5

The chair is inside the house.

The tree is outside the house.

The dog is outside the house.

2. The circle is the square.

The triangle is the square.

The triangle is 'the circIth

The square is the circle.
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UNIT 5

A

4f;

5
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UNIT 5



UNIT) 5
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UNIT 5

r.

II

112.1
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UNIT 5
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UNIT 5
'51.

i

_

2.
,

.

3 ..

AO
1-

..
.

N.ir I,

6.

.
v

11(iliki

7.

..

*

8.

.

t



UNIT

a)

b)

A

d)

4



^

4

UNIT 5
I. How many triangles are shown by these fivures?

2. Name all the triangles in ;these figures.

3. Are there any triangles in this figure?

e..
V



UNIT 5

2

ler

N.

,
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Fractions Oral Page UNIT

1.

4.

11.

.411111

5.

10.



UNIT 6

at part of the whole set is the ,subset of black beads?

46*



.

e

UNIT, 6



UNIT 6

^

44.



.".

IP* 4

51

UNIT 6

qt

",

4.0

4



UNIT 6

Which number is areater?
Vibich number is less?
Whi.ch numbers are eaual?
.Make the sentenoes true.

1 1 1

2.
3 6

1 1 1

3. 4.
8 8 8

7.

9.

6

3

13. *

4

I

,
I

6. -A-4 8-
ot*

To.

12.

14.

1 .

3

tiro

3

4



11,

UNIT 6

Name the points on the number line.

1

A

Point A:

Point B:

Point C:

Point D:

Point E:

Point F:

Point G:

-Point H;

41.

4

8



UNIT 6
Fill in the blanks.

The shaded regiap
of A shows' 1.

The shaded region
of C sbows

The shaded region
of E shows .

The shaded region
.of G shoWs

1

4

A

4

The shaded region
of B shows

The shaded region
Of D shows

The shaded region
of F shows .

The shaded region ,

of II shows
.

3



What fraction completes the statement?

A

1. The shaded region of A

shows of the region.

UNIT 6
S.

2. The shaded region of B

shows of the region.

...

4. The shaded region of D

shows of the region.

3. The unshaded region of C 5. The'unshaded region of D

shows of the region. shows of the region.

6. The unshaded region

of E shoWs of

the region.

F , \\\

145:i

k

The shaded region of F shows

of the region.

The shaded region of 9. The unshaded 'region of F

E shows .of the shows of the region.

region.
.V

10.'You used the number 3/4 in ( ). What other nuibers did
you use on this pige?

11: What do we call numbers like thes0-



UNIT 6

Fill in the boxes.

a.
0

< I

-b.
0

<

C.

4
3

2
6



UNIT 6*
f,

Whait is another name for each ot, these numbers?
(Sci.m ainswers may vary.)

I.

3.

13 - 6

1

2 8.

1

2. 4 7.

,

4
2

9.

6
8 .5. _ 10

)

3

4 H. 2

4

2
3

3
13. y

5 4

5
14. -6-

2 6
-a- 1 -4-5.

,

Make a true 4entence by writingyone of these
symbols: =, > or <'

8, 3 1 4
16. 22. 3

8 6

17.
10 5

6 3
. t

5 7
-6-

8
.

2 4
--i- 8"--7

23. 4
.

I 3
24.

3 8
\

6 3
25. 8 4

5 10 7 4
20. -4- 8 26. 3-

5

i* 4 4 321. 8 *3 4



UNIT 6

1

0 ?

0 ) 1 2

2

3

0

0

1 2 3

3 3 3

1 2 3 4
4 -4-

1

1 2 3 4 5
5

5

4

6
5

3 4

2

2

4 5 6

3 3 3

2

6 7 a
4 4 4

. 2

8 9 10

5 5 5

0 1 2 3 4 5 6 7 8 9 I 0 H 12

6 6 6 6 6 6 6 6 6. 6 6 , 6 6

..lsf i i 1 1 1 I- . L. 1 1 1 1 1 1 1

0 1
2

2 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

8 \ 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8.
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UNIT 6
ri te anoVer nare 1-Jr jot,.

5

10

5.

7.

9

5

3
8

4

7

5
5

13.

A

4.

8.

lo.

12.

V'

8

7

Ks,

I/

(S,



4.

UNIT 6
Find the missing numbers for the points on the number lines
shown below.

0 2 3
2

4
2 2

1

4
2

4 4
5

4
6
4

7--
4

8
4

3

1

3 4
7 ,

0 1

12 12

6

Ii

6

17

7 10

6

Study the.number lines abov6 N\

6. What names do you find for two-fourths?

7. Did cou choose -as a name for two-fourths? .

2

8. What is the more common rwme used..on the number line
for three-thirds?

9. Did you choose the whole number name as the.mpre
common name?

ej.

1



.!

UNIT 6
CliALLENGL PROBLEMS

Can yoi( f14d.the counting pattern.we ,od?

2.

0
3'

I

5'

0

2

30

47
5'

3-

4

3'

5'

6

H 9 7
4. 4, TP TP

5. Supply the.missing numbers for the points on the

number line below:

4
6. Begin at -71 and count by -4-'s to 4.

1 sip

(

7 5 1 0

4 4 .

each number you use.

12
4

Write the name for

7. Begin at 0 and skip count.by three-fourths to 3.

Write a name for each number you use.'

Begin*at 3. and skip count backwards by two-fourths

to'.0, Write a name for each number you use.

62
A



,

.

Techniques of Addition &
Subtraction of Whole Numbers UNIT 7
Find the missing number.

1 . 2. 3. 4.

63 23 51 64
+ 65 + 71 + 58 * 53

5. 6. 7. 8.

84 60 4 93
+ 2 40 + 75 + 36 C

Mr. Moon has 83 bags of seeds.
Mr. Walker has 32 bags of seeds.
How manybags of seeds do they
haN't togbther?-

10. What is the sum of ninety-one,and ninety-four?

A (.7
11. What is 21 plus 86?

12. 72 + 31 = n

. 13. li + 91 = p

14. 84 64 = s

15. n = 53 + 83

4



UNIT 7
Supplementary Page

Find the missing numbers.

2. 3.

37 41 49

+ 42 + 85 + 9U

4. I have 16 books. My'sister has 12 more books than I

have. How many books does my sister have?

5. 83 + 25 =

6. 22 + 92 =

7. 70 --: 30 =

8. 63
+ 45

9. 30

+ 90

10. In a school there are 86 boys and 53-girls.

How many pupils are in the school?

)II. Tommy plAnted 24 flowers on Tuesday. 'He planted

35 flowers on Wednesday. How manyi flowers did

he plant on both days?



Supplementary Page

Write the, missing numbers.

.

2..

3.

1.

15.

19.

72 + 97

m = 92

65 + 74

=

+

=

4.

66 5.

6.

8. 9.
300 542

+ 200 + 3 47

12. 13.
43.1 700

+ 241

a

400

, 16. 17.
863 728
863 + 261

20. 21.

UNIT 7

k = 32 .+ 84

100 50 = n

= 85 + 72

1.0.
456 602

+ 123 + 151

\
14.

132 495
+ 8I2N + 501

..
.

18.
343. 706

+ 635 + 182

SI

22. ...

231 125 506 121
+ 534 + 730 + 500 + 246......_,

.. 61;



UNIT 7

Write the missing numbers.

I. 3 2. 9 3. .40 4. 85 5. 90

4 5 10 30 7

+ 2 + 4 + 30 + 20 + 82

N
6. 41 7. 35 8. 82 9. 400 10. 425

17 92 34 800 3

+ 60 + 50 +453 + 500 + 61

11. Elias has 9 books, Samuel has 8 books gyl Dominic has
7 books. How many books do they have Vtogether?

12. Toni has 41 beads, Mary has 20 beads and Edith has
47 beads. How many beads do they have altogether?

Make the sentences true.'

13. 45 + 53 + 71 = n

14. 24 +.23 + 61 = g

15. s = 21 + 33 + 53

16. 54 + 82 + 43 y

-?



Add.

Supp 1 ementpry Page\
A

UNIT 7

I. 76 2. 83 3. 62
21 34 74

+ 12 + 62 + 31

Vs

4. 92
63

+ 44

7. 85
41

+ 41

4041%

5. 41

+ 41

41.

. ) )-
8. 41 - 42

93 t 51 *

+ 65 +e-51 .I' .

6 7

Mt`

,



_c

UNIT 7
Supplementary Page

Find the missing numbers.

II

31

+ 21

;

2.
,

41

I

+ 32

3. 21,

3

+ 61

4. A father gave his daughter 30 cents to buy food at
school, 25 cents to buy paper; and 10 cents for bus
fare. How many cents did the father give his
daughter?

5.

\

21 6. 3 7. 51

23 61 14

+ 5 /1 + 14 + 33

8. Three fishermen went to catch fish at.the river.

One caught 3 fish another caught 4 fish and the
other caught 27flih. How many fl h did ley catch?

, 9. . 1 bought a pair of shoes for 14 dollars,-pants for
12 dollars and a coat for v dollars. How many

dollars did I spend?

476

.

66



hfilk

i

UNIT 7
Rename .an4 add.

)-<ampIe : 45 + 47 = n 45 40 4- 5

n = 92 47 ) 40 + 7_

92 80 +
80 + NO + 2

92

I . 45 + 24 := n

I

n is

ft

4

3. 67 + 14 = m

m i
A

2 . 53 + .32 = a

a tn.

4 . 96 + 33 = d

d i s

5 27 - -85 + 43 = p . 46 IF 271Ik 31 = .9

p is c is

t

69

olP

t",



4

UNIT 7

7. Henry played football at school
for"65 minu"tes. Then he took
32 minutes to walk home. How

many minuteaj-tfid he take to

play football and walk hQme?

4

8. 'Tom has 67 cows. Bill has 29 cows and Jim has 85 cows.

How many cows do they have altogether?

4-

9. In one town 53 babies were born in 1960, 604 babies
in 1961, and 9 7 babies in 1962. How many babies

were born in three years?

,10. 5ew many days are there in
/the first three months of,
the year, If FRbruary hs
28 days? \

V
. II. The monthly pay-checks of-threehen are 270 dollars,

147 4z:41-ars, arid 665 dollars. Find the total number
of_dollars Ws' in one month to the three men.

p.

eV.



UNIT 7
Add.

11! 53 + 16 = c 4. 282 + 509 = n

2. 68 + 28 = m 5. 256 + 130 + 613 = n

3. 348 + 151 = a 6. 876 + 235 + 544 = rn



,e1nr

UNIT 7

a

Find the missing numbers.

I. 33 2. 63 3. 25 4. 59 5.

+ 48 + 19 + 68 +

6. -M . 1Black has 28 cows and Mr. Newton has 36 cow.5c How

(7

many cows do they have together?

Mr. Gi:een counted 18 girls and 24 boys in.his classroom.

How many pupils are in Mr. Green's classroom?

8. 38 9. 57 ,I0.

+ 63 + 29

13. 58 14. 69 15.

+ 79 .+ 56

Write-the missing numerals.

18. 221' + 129 =

19. 379 + 413 =

20. = 117 + 353

60 II. 57 12. ;79

40 58 49

47 16. 29 17. 28

* 96 + 2 + 84

. .

14 1

V.



UNIT 7
Find the missing numbers.

I. 618 2. 159 3. 206 4. 681
+ 158 + 769' + 394

b

100

.11

5. 176 6. 521 7. 400 .

. 8. 903
234 372 87 5

+ 258 + 84 + 238 + 92

1

Mr. Hill counted 203 birds in the paroday. *Yesterday
he counted 195: How many birds did he count in all?

c,

9. 1345 10. 1309 II. 8327 12. 1448
+ 1205 + 2408' + 1576 + 3245

Make the sentences true.

13. 2166 + 2362 = n

14. 3052 + 1075 = m

14. 4721 + 1723 = b

16. 3868 + 3673 = y



*UNIT 7
Supplementary Page

What number makes the sentence true?

I. n = 342 + 576 + 409

2.

342
576

+ 409

n 1s

= 1246 + 2590 + 178

4. 528 + 962 + 403 = a

528
962

a is

+ 403

5. m = 1846 - 702

1246 1846
2590 - 702

I a

p is m is

3. 1384.+ 728 + 1589 = g 6. b = 943 + 708 + 876

1384 943
728 708

+ 158,9 + 876

g is b i s

7. Thera are 256-pup11s in Alamo School, 325.pupils in
George School and 176 in Crockett Schooi. In.all these
schools there are

1>



UNIT 7
Make the sentences true. 4

I. n = 426 + 300 + 1245 2. p = 7245 + 3596

426 7245
r300 + 3596

+ 1245

n is

3. 75 + 128 + 802 = m 4.

75
128

+ 802

p is

= 1245 123-

1245

- 123

p is

5. A farmer owned 925 sheep. He sold 502 of them. He
said; "I now own sheep.",

J

6. Larry read,three books. The first had 728 pages.
The second had'413 pages. The third book had 548.
He said, "I have nead all the pages of the
three books."

V



UNIT 7
Find the missing numbers.

Example:

I

36 + 57 = d
93 = d

d is 93

36
+ 57

93

1.' 67 + 84 = m 4. 372 + 3665 + 555 = n

.16

i. 134 + 29 = n '5. 126 4-67 + 1148 = d
4

3. 257 + 84 + 489 = m 6. 323 + 612 = d

76



7. One fishing boa-I carried 687
fish, a second boat carried
490 fish, and a third boat
carried 600 fish. Find the
total number of fish which
were carried by the three
fishing boats.

UNIT 7

8. Mary read a book in two diys. She read 196 pages the
first day and 205 pages the seco6d day. How many

0, pages are in the book?

9. in three days an airplane
flew 3286 miles, 3078
miles, and 5000 miles. How

many miles "did it fly in.

the 'three days? \

10. .Bill collected 59 stamps.
His sister collected 74
stamps. 'How many stamps
did they collect together?

Am.

sx.

7 1-0

p., e-101



UNIT

II. The city council gave ree

schools some libra books.

first school got 347
books, the second 897 books,
and the third 304 booksA
How many books were given
to the three schools?

ok

12. Tom wants to buy a book. He has 75 cents. He needs

50_cents more. What is the cost of the book?

76



UNIT 7
Supplementary Page

What number makes the sentence true?

I. 32 2, 1079 3 . 2174
571

,

345 // 1035
+ 349 + 761 437

+ 211

4. In the National Park, Bob
saw 375 buffaloes, 472 birdS,
and 139 bears. How many
animals did he see altogether?

5. Bill picked 79 coconuts one
day, 135 coconuts the second
day, and 119 cdconuts the
third day. How many coconuts
did he pick in,the three days?

6. 35 + m = 174 7. 349 + 475 = g

8. p = 1473 + 279

10. s + 74 = 217

9. 129 + n = 245

= 476 + 12974 345

11.



UNIT 97.51-

Firc t-e -issinc

1 4..2.5 . 3N5

+ 492

671 66N,

isI

IC

4.

+ 49G
1HG8

G is

H is

5. 1493

+ 2F8
IF71

F is

Tom weighs 139 pounds, Bill
weighs 156 pounds, and Bob
weighs 147 pounds- How much

do the children weigh altogether?

78E.

+ F59
12E3

L.- is

6. 93K
+ 4P7

IR22

K is

P is

R is

A

Find the sums.

8. 1473

527
+ 495

462
729

+ 1317

4s

10. 394

1287

+ 2729

e. 80



What is n?

I. n = 2268 + 2376 + 3013

2. 6619,13462 + Y106040+

3. n = 833 + 7142 + 94 + 5134
N._

4. 494 + 903 + 1363 = n

Find the.sum.

A
1234 6. 932 7.

5678 , 1063
2016 . 4300

4- 1002_ 1-762

UNIT 7

7914 8. 4176
3008 5283
5161 4. + 9761

+ 2007

9. Abu's father bought four houses. The first house
cost him 3352 pounds. The second cost him 3162 pounds,
the third cost him 2876 pounds, and the fourth cost
him 4708 pounds. What did the four houses cost
altogether?

°

10. In a four-day sports meeting the daily attendances
were: 2013, 3713,'4500, and 5400. How many people
attended;on the four days?

ft%

8



. UNIT 7

-rain carries four cars of oranges. The oranges in
The first car weigh 3422 pounds, thosetn the second
car weign CounUs, those in the thilld car weigh
4015 pounds, and those in the tourth car 4,6.4,0 4203

pounds. What is the weight of the oranges in the
four cars?

2. "Jr1 Fridav -eith slept for 623 minutes, on Saturday he
slept for 613 minutes and or. Sunday he slept for 695
minutes. 'HIson slept for 509 minutes on Friday, for
703 minutes on Saturday, and for 7-25 minutes on Sunday.
Who slept longer far these three days?
How much longer did he ,Oeep?

Find the sum.

3. 14,000
8,060

. 22,009
+ 19 110

Find the code.

6. 400,P76
N23,8I4
200,001

+ 34 203
858,194

P is

4. 806,103
80,700
9,062-

+ 3,104

7. I75,3K2

300,164

+ 10Q,F7I
'589,820

K is

F is

s

26,004
13,462
15,100

4- 19 711

8. 86,314
s: 2W,423

10,000
+ Y2J86X
129,601

82

X is ,....

W is



911

4

4

What number Makes the sentence true?

4

UNIT 7

I. .= 1284 +,97.63 + 7188 + 987 + 765.

, A2,

I 5346 .,1-,4422134. .29 I 24 + 71°62 =

a i s

3. 15632 189, + 4163 + 94 1-7246 =

#t y

S,
s.

4. x = 18007 + /7.0
(`'

s#

q

s

q Is

,

5. w = .0 L7 + 72 '1- 1416 + 42100

44

4 =

,
4

190-15%,4000 +' 620;000 :t 876,469 + 130,0191.+ 78,325.4c\- z.

ta

4

. , .

,,
4-

so

kg,

.

z is

#1

.



UNIT 7
C.

1. Tommy's town is a large one. They have four water tanks.
The first tank holds 15,200 callons,;the second holds
220,147 gallons, the third holds 35,10G -.:allons, and tne

111

fourth holds 43,897 gallons. The four tanks tocethor
hoid w gallons of water. What is w?

2. Henry's father is a fisherman.
. In May last year he caught
7246 fish. In June he caught,
5876 fish. In July he caught

'8314 fish. In August he
'caught 4713 fish,.and in
Septembir he caught 6492 fish.
He caugkit t fish in these

' five months. What is f?

3. In one yeAr a city council, 'spent the following:
80,340 dollars on school buildings;, 17,146 dollars on. /
parks; .150,016 dollars on hospitals; 18,136 dollars ')

. on water; And 217,384 ddllars on streets. Find how.

.many dolar's the 'council spent in all.

olo :
sa

I,

a



Supplementary Page

Find the.missing numerals.

6.

Robert decided to walk from City A
to City B. He tOok five days. On

the first day 11? walked 23,136 yards,
on the. second day he.walked 20,864
yards, on the third day he walked
19,893 yards, on the fourth day he
walked 20,106 yards, and on the
fiffh day he walked 21 42 yards.
He walked d yards in What is
d?

UNIT 7

Five shops made paper flow6rs. The first shop made
19,260 flowers, the second sh-op made 16,486 flowers,

*the third made 8,243 flowers, the fourth one made
7,004 flowers, and the filth'shop made 12:415
flowers:. The 'five ,shops made h.flowprs in all.
What ish?

Add.

31 2389
4751

1604
8237-

4-9062

14623 5. .84762

21587 976.
46790 1284

30014 .18342

4' 8407 2786

a

172



UNIT
Use the siOs >, < and =.

I. 40 + 30 70 6. 400,+ 200 600

2. 42 + 35 75 7. 420 + 143 600

3. 42,+ 35 80 8. 800 + 735 1500

4. 143 + 30 200 9. 52 + 59 100

4

5. 143 + 30 106 10. .452 + 59 200

I 20 + 40 4 60 1200
if

.

12. 25 + 42 + 68 1200

13. 125 + 302 + 181 600

Make the sentenEes.true.

14. Ben has 12-books, Robert has 19 books, and Ralph has%
, 31 books. The teacher said to the pupils, "This shelf

ho[ds 50,books. Put all of your 'books on the shelf."
Ben said, "We (can, can't) put the books on the
shelf because 12 + 19 + 31 ' (>, 0 50."

t.
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114 I

,

Work the puzz les.

4

4

2 .

._

4 ,

,

5

,

6
.

8

..

Sum: 15

44

6
.

..

2

.

5

,..,

8
,

4
i,

Sum: - 15

I)

UNIT 7 \

7

I. 5

._

9

,
.

.

Sum: 15

4
/).

15

S.

.

1

&

..

6 ,...-.)--
."-

1

,
1 '

4.
I

44

2
.. ..ri

.ro.

.

.

..

.-...1

,

0
.

.

.

Sum: 12

,4)

4

4



UNIT 7
Make the sentences irue.

I. 2.
85 32 = n 4"

s,

4-

7J

122 = \-743 + 38 =

85 423 743

32 122 38

374, -L 104 = c

374 ,

104,

p is b

6.
+ 12 = n d = 495 261

5 .495
8 261

+ 12

c

. .

is

8.

n is d is

806 - 500 = m 463 + 453 g = 300 - 200

806 . 463 300
2 500- + 45.6 .- 200

g
,

m is g is
4.

10 The :1-eactrer-toleJohn and Tom to subtract 132 from,536.
John said, tithe m'issing addend Is 405." Tom said; "The

4dend is 403.'1 (John, Tom,
-* ,neltlier) is correct.-



4%1A

Make the sent#ces

I .

t rue .

2.
54 27 = n 54 + 27 = p

54 54

n is p i s

4. 5.
a =- 926 - 454 rn = 720 - 260

926 720
- 454 a -1 260 ._

`a is. rr is.

7. .

h = 902 42 ,1 2 19 +- 3_2 g

1'02 12
42 Fit, 19 I

: . - 32

!1

- h: i s . .
4

,. ..s.

UNIT 7
.0

3.
728 319 = r

728
319

r is

833 - 524 = b

833
524

b i s
a

i 294 14'8.

1294.
:178

... i s . ..
v ..-

.. .

.y. a1 v 1 ., .. ....
-110. . A s.i a read 1.

I I
.n : Buy. a .motorcyc I e for 2-80 -dot! I ars.. _ .

F.,..
. .

j irr lisS. 2,.5-2.4.tdON-1 rs .. .1. .Hq sa i cl,- " V.:nped qn ly, A 0

. more- pc H a.rs rto 0.44Nt .ttle rriol-Orcycle.m ..ay

1,

0
f

4r. . ;4

-

,
-0 1.*

I



UNIT 7
Subtract.

4

I. 98, 54 = c 2. 676 - 232 = f

c is f is

72 37 = s

i

I.

Makeach a true statement.

(30

. .940 - 718 = e

. 'e..

e is

5. 6784 ,=6127 + y., 6, .460 + n :7-- 8713

4

y is n is



c

cINIT
7. A builder ordered some doors and win ows. the total

number of doors dnd windows orden 4,1., 1 58. There
were 8r5 doors ordered. How many windows were ordered?

8. In a Kish pond there were,
256 fish. Some were silver
and some were gold. If 160

were silver, how many were
gold?

3.1

0

9. In one school there are 720 children. ,If 308 are .

girlS, how many are Cloys?

10. Jerry's father wants to buy a car that costs 725
dollars. He has 615 dollars. HON many more dollars
does he need to buy the car?

44

Supply the missing numbers.

H. 1746
924

12. 4763
12v

13. 4931

- 2753



UNIT 7
Find the missing numbers.

k.

A

4

I. .495 2. 5B6

2A8 39B

2IA IB9

A is B is

x3. I73N

988
7N6

N i s

4. 1936 5. M74 , 16. 1435

1E59 - 4MM 79K 7

EHH
.

475 KP9
p

H is

E is

4

M is K is

P is

7. Walker collected 947 bottle tops. Bob collected 789

bottle tops. How many fewer bottle tops did Bob collect

than Walker?

7

8. The road from Clint to Lakeside passes through Hammond.
4t is-98 Ales from Clint to Hammond and 307 miles from.
Clint to Lakeside. What is the di.s+ance from Hammond
to Lakeside along this road?
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UNIT 7

n = 400 185 14,) 483 = a

704 400 1040

146 185 483,,

g is n is a is

4. 5. c.

c = 1406 527 501 148 = = 1 00

1406 501 100

- 527 148
J16

c i s i s m is

_

C' 7, Tor-as and Jose work in the town of bens. Tomas
earned 425 dollars. Jose earned 1200 Ilars. Jose
earned/ --ore dollars 'than Torras.



UNIT 7
rind the missin numbers.

3.

4586 z . 862..)

7 2657 - 1346

5682 4. 4929

2859

5. 10340

8156

7, 5000

8.. 5000

9. .5000

10. 5000

II. 5000

. .;

2999 = (5000

3001 = (5000

3004 = (5000

2499 = (5000

2995 = (5000

6. 3521

A 3499

3000) +1 =
r

- 3000) - I

3000) - 4

2500) + I =

3000) + 5 =



ft*

UNIT 7

I. 46,598 2 16,534
21 LO2 10 417

3. 16,800
4 005

5. 15,000
12 001

4. 40,507
12 183..

6.

J
40,000
39 999

4
7 i n'190, 91,700 passengers left the El Paso Airport

in airplanes. In t963, the number was 140,900. Did
more passengers leave El Paso Airport in planes in
1960 or 1963? How many more? In 1963,

more left El Paso.

.P



UNIT 7
Make the sentences
Use the signs >, <

I .

true.

and

6.

400 100 300 504 60 500

2. 7.

400 - 99 300 748 248 300

3. 8.

400 121 300 400 121 200

9:

526 300 200 12 10 62 60

5. 10.

1457 - 387 IO.Q0 46 40 10

11. 400 299 (400 300).3/1

12. 400 301 (400 7 300) 1-
.$)

13. Mary is 10 years old. Her mother is 32 yews old.
Mary Gaid, "My mother is 22 years older than l am
because 32 - 10 22.."

. :OA

S.

'.."

9 6

#147:1
N.

.
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UNIT 7
so

What symbol , > , , or =, maos each sentence trTue?

549 + 6317

2. (472 - 361) + 25

3. 394 +- (-2-7-4 ---- 37

4 642 + 642 + 642

7

-

473 ,+ 395 + 319

1033 897

..... ...+ 3941. 37_ _

962 + 962

Tom travel s from one *city .to a second city i n three

dayt. The f i rst. day he goes 214' mi les, the second day

179 mi les and the thi rd day 249 mi les. Marvi n makes

the tri p between, .the two ci ties i n two days. He 'goes

a di fferent way. He travels .

317 rrii les -the f i rst day

and 329 the seconct day.
eWnich one trl,vels more
mi les than the other?

C.

How nary more rri) les doe."

he travel.?

1

4



UNIT 7 i"
NUMBER. S TOR I ES

I. In North America there are,
many hig mountains. Mount
Sha'sta is,14,162 feet high.
Pike's Peak js 14,110 feet,
high. Guaqalupe %nail. is

8751 feet high. Of these
threernounta-i-rvs- -

/.
.

the highest?
'Which is next?

How much
higher is Hke's teak than
Guadalupe Peak?
.Which is hi-gher, Mount
Shasta or Pike's Peak?

How muLh higher? .

(

ffi

2.: The two largest cities
TexaS are Houston and Dallas.
In 1960 the population of
Houston was about 938,219.
The popUlation of Dallas

4

was abotit 679,684: Which
,Pgity is"lhe largest?

Write a jnathematical sen-
tence t shoW this.

How much lvger is the
largest city in Texas
,than the second largest?'

*

4.
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UNIT 7

3. The di tance of the railrOad frog) El Paso in Texas to
,Santa Fe in New Mexico iz miles. The train goe-,

through Carrizozo. If Lt.is 129 miles by trai.n from
El Paw) to Carrizozo, how much farther dges the train
go from Carrizozoto Santa Fe?

.

N iagara Falls are 158 feet
hrgh. Yellowstone Falls
are 308 feat high. nr(tat

'Faris art 35 feet
WhICh is the highest?:

I-16w much higher are

N iagara' Falls 'than Great

Falls?
How much higher are-
Yellowstone Fall's than
N iagara.Falls?

a

,



UNIT 7
Supplementary Page

NUMBER STORIES

I. In 1950, there were almost 1,060,000 chi Idren enrol led

in primary schools in
Louisiana. Eleven years

---

.,was over 2,900,000. About
how many more children were
enrol le-d in primary schooLs
n Lou is i ana i n 1961 than

n 11950?

2. In El Paso there are,pants factories. In 1960,

.- 1,530,453 pairs of pants wore sold, In 1963,

1,953,651 pairs of Rants were Sold. How many more

pairs of pants Were. sold in 1963 than in, 1960?

. .

3. Texas grows a large share-of the world's cotton. In

.,1964, about-.381,506 bales of cotton were' sent to other

part5 of thefworld. In the-month of December, 21,930
bales were sent. .How many
were sent out during-the Aft
cdher months?

111111111

4. 1(
1.

Louisiana sh ps oil to
other of,the world.
In 1963, 63,561 tons were
shipped.' In 1964, 69,539
tons of oil were snipped. How much more oil was

shipped in 1964 thpn in 1963?
I.

V.

-

a
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UNIT 7
.5

Martha,';; farr"dy.wants -to 'buy u new car. 1116 type.of
car tht-)y wani costs 2500 Martha's fathor
ha's 1750.,doll.ars in the bank.-. lhis yeiv.he pIans.t9_
save 245 dol tars' more for th Ilw cnany dollars
moreyi I t the..famrly need to- buy t.he car'?..

i
10 ...... . . -

..- 4..
1

. v
2. Add: *

.., ,..3.- Subiract: "4'.... sf.
. .

4,320' .. 4,306 -

4-8 289 ..--- I 427
,..

"--"k

4. Subtract:
,

4. Add:

>

Not

)

'4--3.- 860

. .-.:'
, , - . .,

6, .26;000 14000 ;c ra _ v ,. a I s
r t

I ' 1 1
,

4 . .

c
. . ,

II

4.

675
132

+ 31-6

7!'

-

42, + b 840Q0 III

10,000 + c =

.
.t <

rs.

S.

. .

c is

I.



lamotopmEit

Irt

UNIT 7

a

1 4

.,
Use the

L
commutative property: Xomplety eactl f3h1e."
, )

..

I.

+ . 0 5
-

13 34 233 -987

0 0 5 .14' 3
1

233 ,

,

10 18 738 992

13 426 47 246

34,. 34 39 '468 1021

233 -, 267 466 1220

987 987
,

WOO ' , 1974'

*3. (Chdl lenge Problem),

a

"-Find the sum n:

41

a.

r

-
134

.

76 1 5 2 -/ 210 362

.
134

_
....

268

.
-- .

,....-

,

1 A-

I + 2 + 3 + 4 + 6.=. n

Frank has a quick way. of finding n.

way.: 1 + + 3 + 4.+ 5 + 6.= n

(1 + 6) + (2 + + ( + 4) = n

.3 x 7 '.-n.
t

n is 21.

Which ,pt pertles are used. in Frank's, w90

*4. Use Frank's way to fiAd the isum'al:

2 5 + .8 + 14'+ 17 20 + 23 =

4

.46

=

m

4102,

,

rr

r

.64

410
*4

fl

L.



1

4

4

Atf

4

.

5.

IV 1 4

Complete each Operation Machine. Filr in missing numeral
or sign.

...
s .

...

v

, .

.

1
.

.11,
.

..
, ...

(638
1

393)

+

.

5,

.

.

Z
.

.

)

.

_

,

,

.

.

._.....

2 .

.

..
.

...... ..

.1 .

(802
1

475)

_

.
.

.

3 .

.

,

.

_

.

,

( 1 6 0 I 395)

.

a

.

4.. e

.

.

555
.. .._,... ..._. .___............... .

4.-,

..

.

,

.

.. ,
,

.

-,

(834 476)
9

4
r

_
.

.

..e

,

...

I .

.,

.

5.

.

.
,

.

1

...

_ -

(859, 584)\
.

.4
+

.

---1
.

.
.

.

,

..

,

.

6 .

.

e

.

.

(6537

_ .
.

293)

....
.

_

.

.

- ..

,

.
?

13. 0

i,

---I

.

x---
_,

.

I--
.

..

.

7.

.

.

.

,

$

(72N

.

t -

376) .

. Z .

.

le

%

,

..

i

v..

1-

,

,

.

,

.

.

.,646 I 679)
.

.
Z

.
. ._

.

.

,

.

4

.

9.

.

.

..

.

.

_a-1

- \

(514 f 395)

Z
.

.

tk

.._

.

I*;$ ._
.

?

,

.

r"

.
.

.

.

71 -, r r---

119
.

.

..

.

.

111

10 ti
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UNIT 7
the lanks. Use the associ ati ye property.

The. teacher asked,- "Who an
,tind :the sum of 782 and .

368? Calviri said, "I have r
an eas'y wy to do V." Seel
what he wrotsr, oh the \board.

1

.1

782 + 368 = 782 + (18 + 350)
= (782 + 18) + O350
=(8No + 350
= 1150

Wh ch property di ci( Calvin use?

-Use Ta vi n' s method to f i nd the,sums. Fi rst fNi 41 i n the.
miss g- numbers.

1. '98 + 14 98 + ( + 12)
= (98 + + 12
= 100 +

- t

21 375 49.='375 + (25 +
= (675 + 25 )
= ,400 +

-40

942 + 178/= 942 + (58-+

A l= (942 + 58) +
- 1000 +.

-
)

`-1

. -

4,

-)

I.



UNIT 7

Calvin cou.ld alsy" find missing addends- by his method.
See what he wrot6 on,the board.

*

44 + n = 142
(42 + 2). + n = 42 + 100
42 + (2 + 11) = 42 t'100

Calvin says, "2 + n = 100. So n is 98."

ore"

Use Calvin's method to find the missing.addends.

4.,

4. 79 + n = 175
75 + (4 + n) = 75 + 100

4 + n is,
n is

,-

5. 176 + n = 373
+ (3 + n) = 373. , t

\\\\ 3 + n is
n is .

et


